4 (Sem-2) FACT
COMMERCE
Paper : 202
( Financial Accounting—II )

Full Marks : 80

Time : 3 hours

€ figures in the margin indicate full marks
Jor the questions

r either in English or in Assamese

the following questions as directed :

1x10=10
= o e foe S e

Discount allowed to debtors is not

~ shown in Branch Account.

( State whether the statement is
True or False)

*R1 fRotere cramtat fia Q161 crqean = |
( T& IR0 wE & T e )

Revenue arising from sale of old

furniture is not recognized as income as
per AS-9,

( State whether the statement is
True or False )

TR R RE IR e wome ww o

AS-9 o TgfS fran 727 |

( T% Tt wE ¢ g e )
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S 3

(c) Depreciation Accounting as per AS
does not deal with

¥ the Branch not received by
ebited to A/c by the

1

AS-6 (O ST 251799 I2T 724
’ ( Fill in the blank )
o 4 I PR e

}“' fasrere (ofit 31 =W |
(AN Of °R <= )

i ;ln asset which can be

off only in the event of the
e 0 . i Id i .
(i) mineral B g sl'(l) as a going concern.

£ i (e whether the statement is

f al True or False )

(i), Alk of b above ’ m;f; T Lﬂﬁgf::ﬂ;;@ .

SIF HAPACS o
( Choose the correct ansu i ( AT W% (T T fordr )

(w7 TeIch! AR Sfered]

(i) goodwill
1 w

(i) livestock
IF][ ©¥9

j partmental Accounting?
o 2

5 of the Indian Partnership
relates to

-_._‘": \ b % 39 W
B o'
' sion of partners

LR EO)
lvency of partners

(d) In branch accounting, the excess
selling price over wholesale price |
considered as the profit of . .

( Fill in the blank

11 RIS TR PR evie RE @
ARRE -7 e 3 a1 390 = |
( & 312 o7 3
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(4) (5)
(iii) treatment of goodwill h llowing questions in brief :
: ; 2x5=10
BiQIRR] [EQEEISE " m Taq f -
I

/o items of inventories which are
i the scope of AS-2.

e TERl P TGS AT T

(iv) dissolution of partnership firms

SRR TS~

( Choose the correct answer

( -@5 m QT@ %ﬁ o | 4
Branch Adjustment A/c -

(i When an unrecorded asset is taken o ‘
| févre R e T =2

by a partner, realization account |
credited.
( State whether the statement two basic differences of Branch

ting and Departmental
‘v‘g.

i Ry Rorr Fwre 291 B T
-9 |

True or Falsé

e « b1 FRySRET Teife g S|
AR IR, cofeu P wmEesd ot (@ _
b & il

( To IR W% T g o
all partners become insolvent,

yill be the treatment of ‘unpaid
&’ h’; Creditors A/c?

M (oo =W, (o
ﬁm@ s e’ B IR 6

() What is sliding scale method
valuation of goodwill?

S R wEWR o e [0
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(6)

(e) How is interdepartmental transfer
cost price recorded?

T Tre SRRy TR (e
W ?

3. Answer any four of the following questions
©ore w1 PIIRd <11 R @i oI e i

(a) Give a brief note on AS-10 on valuati
of fixed assets.

RoPR Te-10 3 2R 7o mes @
96 Y (Ol forat |

(b) State how the compliance of Accounti

Standards in India is ensured.

SReRfe RoPR TR W beE
AT W, OF 01 4T |

(c) Guwahati Branch of Kolkata HO d¢

not maintain its own books. Ps
necessary Journal Entries in the bot
of Kolkata HO for the follow

Al16/682

(7 ) ' -

ttlons effected during the year
¢ books are kept under Stock
btors system :

(4 e g e’ o e
(| ITferN RS ROPR TgT
M e Ty 3 4R T=actre e
o it cermorrTRs e 2k fran

¢ o)

8 sent to Branch 30,000

CerRe

I8 received by Branch 25,000
#le w

13
H remitted by Branch to the HO 40,000

N R o o el

» Beeived by HO 32,000
1 21 e 4

fins a chemist shop. His net
= on 31st March, 2016, amounted
20,00,000. After paying rent of
D0 a year to the landlord (who is
employee in the shop) for
g8 valued at ¥ 1,00,000, salary of

000 to the chemist, he earns a

( Turn Quver )
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( 8) (9)

profit of ¥ 1,50,000. His landlord 4
incidentally is the chemist of the s
keen to purchase the shop. 12¢
considered to be a reasonable retun
capital employed for this type
business.

the following information,
fite absolute surplus capital :

Wl SUPTRT 2/1 599 IR Erema e

7», alance of partners capital as per
I8t Balance Sheet :

What can KGR expect as payment HRACO PO Tge-cd oo SRMmReTee

goodwill?  Make any reason W 'qu_@ .

assuptions, if necessary. 7 (59
KGRA «% 8y R vz sz | | 2 ‘ 22333
31 6, 2016 ®® SWRT IRIDBH c 20,000

F9Ifeq ARG 20,00,000 577 | T 13
1,00,000 53 P T SO IR0 - Profit & Loss A/c (Cr.) as per last
STl 15,000 5371 (R Reffie qoe < Balance Sheet— 24,000

S TR /% FHOREE 20,000 H1 SRR PO TS S TS~ (RO
R ame  (vdt e %onﬁ:{ B4 ((&f%5) Tge—24,000 Bl
1,50,000 511 (o9% T8 ﬂrf%ms
AT Ref@ReR Fffoee, ReMa R
R A G oY IR
Rt e amy ot =w 109
Reave s31 2797

TTRS 9w KGRA & =1 331 s < #
Tt ¥ 2 AN e 7@ = |

_ﬁt-sharing ratio—3:2:1

1S RoT were—3 1 2 ¢ 1

the features of Independent
Is a Foreign Branch an
sndent Branch?

| SN CMEPTR I 401 (e M
T #1410 2

“
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4. Answer the following questions :
T frA 2R e faa

(@)

(b)
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( 10 )

Explain the procedure to be follow
issuing IFRS by the IASB.

IASB-Y @@ IFRS fRfersew ity

S{ICSoA] <547 |
Or /521

Explain briefly the requirements of
Accounting Standard-1 (AS-1)
disclosure of accounting policies.

A company having its HO at Gu
has a Branch at Tinsukia. The Bri
receives all goods from HO who
remits cash for all expenses. Sale
made by the Branch on credit as we
for cash.

CEIEAICH I o o B G S o S
fopSare b1 11 ez (=R I3 3
R I VG SF TS 9% AT )
MY MR ATEIPTHR AW O
& 33 | |

(11)

#ales made by the Branch for the
ending, 31st. March, 2016
inted to ¥5,75,000 out of which
is cash sales. The following further

nation is available
iif, 2016® S IRIEH A *MAMEH
9§ wifke 5,75,000 5%, TR foowe
b i R e we Rgwm ww

G
I on 01.04.2015 85,000
L #1 01.04.2015 SRS
tors on 01.04.2015 80,000
{4 01.04.2015 ©IfIye
¥ cash on 01.04.2015 1,200
WM 01.04.2015 ©IfRye
jittances to Branch :
o H9% 4 (2F
For Salary 30,000
For Rent 10,000
 HAS[ M
For Petty Cash 4,800
A1 o rm
iy expenses incurred by Branch 4,000
A YpAT ATR
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(c)
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(12 )

Cash received from Debtors

(TS 2[4
¢ 6
Bad Debts written off [
SR 44 1
Normal loss of goods at Branch 1908
4[S AVGIT FTCIRE AR :
6,000
Stock on 31.03.2016
TGS A 31.03.2016 TIRIS
All sales are made by Branch at ¢ 24,000
plus 25%. | 20,000
47% STAPHE W 8RS 25% 9l fi , ;
e | :
Prepare Tinsukia Branch A/c in 40,000
books of HO for the year en 34,000
' 1,200

31st March, 2016.
31 Wb, 2016 TS SR JZIWON 3
TR IR 41 o1t 2 91 |

Mr. Rahul Bajaj carries on his busir
through two departments—Deptt. A
Deptt. B. Following are the extract
his Trial Balance as on 31st Decemil
2015 : : d
. w=E qEcE o Ren—Rem A

Rom B9 wRWe (06 I AR

BT UL :

o>

(13 )

® ©UPER (99 31 f¥rEs, 2015
Tge fem-o[as 271 @R 2 ¢

T o9

Purchases Returns :

Wﬁ?ﬁ:
A .
B

Sales Returns :

Ry e

A

B
Salaries
TR
Advertisement
R
Depreciation

G

ditional Information :

F' Stock as on 31.12.2015
- 31,12.2015 © FFFA TG A

T (o9
8,000
11,000

4,000
3,000

2,000
1,400
12,000

3,600

2,700
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( 14 ) (15 )

Assets realized ¥ 18,500 and expenses

ol realization amounted to ¥500. C
ecame insolvent and his estate paid
850% of his debt. Close the books of the
firm applying Garner vs. Murray rule. 10
SRge ey 4RW9 18,500 Il W=
WP 477 500 511 C (oA 2 W
949 IfSre ey o Wife 50% wwE
EIE SS9 iR R A IR
M f2prer 3R IR = |

Or / 9«1

(i) The unallocated expenses are i
charged to each department
proportion to the cost of goods &

Renr 7R Jwe Regd @eEr 4@
e Rerr T [RE @@ 79[
T weres o9 941 2] |

Prepare Departmental Trading
Profit & Loss A/c for the year en
31st December, 2015. .
31 ferge, 2015 5 WEIR IZHOMA

T-Rey S oS- (ool {25171 2ge ] |
‘ Describe the procedure of determining

(d A, B and C are partners in a | ‘the purchase consideration in case a
sharing profits in the ratio 3:2: 1 partnership firm is sold to a company.
the following assets and liabilities Also state the Journal Entries to be
A, BEF C 93 g 3:2:1 SR ,asssd in the books of the partnership
et Sfma | (O9ERT AT firm in such a sale. 4+6=10
PR ST 81 4399 e - b R T 9B @ RE 28
By g Rfem smieogr 3 w911 coe
Liabilities % f:;i;t%s R cvae SR 9w ﬁ%’ © WIR
il ‘
Capitals : Sundry Assets i in{@?{i[q\g feret |
T Ry s~effe
A 20,000 Profit & Loss Afc ik
B 12,000 FS-ERDH 3511
Reserve 6,000 C’s Capital
& CI T
Creditors 12,000
RIS
50,000
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